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Neutrino=antineutrino
We ll have more to figure out about 
neutrinos.
Earlier neutrino oscillation experiments 
showed that neutrinos have a finite mass.

This is encouraging for the search of 
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Theoretical Energy spectrum for 
0v decay is different from 2v decay
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G0v = two electron phase space integral

M0v=The scattering amplitude

<mv> =effective mass of neutrino
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To reach <mv>~ 50meV, approximately a 
ton of isotope will be required.
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62.5%enriched136Xe was used
Detector tracked two-electrons, indicating 
of double beta decay.
The energy resolution at the (0
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